Set-002 1 Reasoning Ability PGT (LDCE)(1 to 10)

1.

Find the next term of the series :
A1z, D4Y, 19X, P16W, _ ?

(1) X25V
2) Y25V
3) Q25Y
(4) Y24V

Sonal said to Rajesh, “The son of your only brother is the brother of my husband.” How is Sonal
related to Rajesh’s brother ?

(1) Sister

(2) Daughter-in-law

(3) Niece

(4) Sister-in-law

If in a certain code language ‘CRAFT" is written as IWEIV how will TREAT be written in that
language ?

(1) ZDIEV

VWEIZ

2
3) ZWIDV
(4) VWAIV

If the minute hand of clock at 12 noon points toward@ west then in which direction it will
point after half an hour ? .

(1) South East @
North East
North West 9

North K
=

—~ o~~~
= W
~— ~— ~—

(1)
2

(2)
€)
4)

Z 70O

4

Three statements showing relationships have been given, which are followed by two conclusions,
I and II. Assuming that given statements are definitely true, find out which of the conclusions
is/are true ?

Statements :

1. R=W>L<F=N>P,

2. J<P,

3. F<K

Conclusions :

I. L<P

II. F>J

(1) Only conclusion I is true

(2)  Only conclusion II is true

(3) Both conclusions I and II are true
(4) Neither conclusion I nor II is true
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7.

10.

There is a statement followed by two conclusions I and II. Decide which of the conclusion follows
the statement ?

Statement : Eating fresh fruits prevent us from diseases.
Conclusion : L We will fall ill if we don’t eat fresh fruits.
II.  Fresh fruits keep us healthy

(1) Only I follows

(2)  Only II follows

(3) Both I and II follows
(4) Neither I nor II follow

A question is given below followed by two statements I and II, each containing some information.
Decide which of the statements is/are sufficient to answer the question.

Q: Which country is to the North-West of country P ?
I:  Country Bis to the South of P and country C is to the East of P.
II: Country A is to the North of P and country D is to the East of A and Q is to the West of A.

(1) The statement I alone is sufficient to answer the question

(2) The statement II alone is sufficient to answer the question

(3) Both the statements I and II together are necessary to ansyer the question

(4) Both the statements I and II together are not sufficient swer the question

Where is the invisible number in the two positions of t@ cube ?

oo o
e &

(1) Opposite of 1

(2) Opposite of 3 K

(3) Opposite of 5 Q

(4) Opposite of 4 \

In the diagram given bel e circle represents the girls, the triangle represents the students, the

square represents the dancéygs and the rectangle represents the players. Which of the following
alphabet represent students who are not girls but either dancers or players ?

4

B|C
G
D
(1) B,C
) EF
@) D,G
4) FG
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1.

Ut T STTAT IS A hIfIT ;
A1Z, D4Y, 19X, P16W, _ 2
(1) X25V

(2) Y25V
(3) Q25Y
(4) Y24V

e A TS § e, TR THATA 98 ol 92, Y °fd 1 9iE g1 e Teie & 9 § fRe YR St
g2

(1) @fed
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(3)  srdtsit
(4) ol

I Th FHe 91 H ‘CRAFT &1 ‘IWEIV’ feran Sirar € df TREAT i S&t oo # forg gahR feran s 2

1
2) VWEIZ @
aﬁﬁwﬁsua@ra@ﬁmaﬁﬂéﬁww&z@ﬁﬂ%a‘rwémﬁﬁsm%ﬁmﬁsﬂaﬁaﬁi

3
4

BT 2

(1) =feqor o . @
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(4) W (‘SS'
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6.

el =l guid o e few T €, former avenq 3§ frepd 13RI 1 =g 7 gU o feu e svem fafvera &q
Y 9 ¥, 910 o fop s @1/ | frepd g g/ € 2

hdH

1. R=W>L<F=N>P,

2. J<P,

3. F<K

foreens

I.  L<P

II. F>J

(1) adt fF=hd 1 T

2) Faa ke 19§

3) frerd 1 &R 11 9 T €
(4) A feRe 1 SR & frshd 11w

T A o 915 of Fehd [T 11 feu e 1 ffvea wifee for o a9 freed fou 1@ e <1 ST3ER0T har

T/ FAE?
FHAT: A el Ao SR S | e e ¥ @
frrd: L w@wéaﬁﬁaﬁwﬁwﬁaﬁ@

I S %ol 88 e Wd B 0
(1) Fad [ AT HI & o
(2) Fad I ST HIAT § @Q
(3) T 19 II STTER idl © .
@ N\

4) I I TR HAAT ©

= T e e T § e gﬁlﬁﬂﬂ,ﬁ%ﬁ@ﬁﬂﬂﬁﬁ%ﬁ,ﬁqm%ﬂ o wifsTe fom
A T/ F HH, T H g/€7?

Q: TWPF W U A 19T ?

I: OB PHIIHARIVNC,PFH Y H T

II: IWAPH SR A SIRIWD, A% & H R 3iRQ, A% ufeem # 7
) I, 3Th T, T 1 I A o T §

2) A II, ITHS &, T A I A 7Y T §

) USRI, ST Thes TR 1 ST o7 7] ToRTF © |

) S e, 1 TR I, Sohed U9 o1 ST S Jg AT el | |
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9. TH T A H Q Feurferdi # srevar Hewm wa WR?

) 1% foada
2) 3 fawia
) 5% fawda
) 47 foada

10. = fou T et | g1 orefeal s guidn §, e famnfef o gwian €, ot Jafeai / Jashi =1 giiar ¢ 8iX
31 faenfedi &1 ewfar 81 f o | S § ool 57 fornfelai =1 wifa € S et 76 & g Ja =1 fgare
g7

e,
2
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B, C
E, F
o

F,G
.
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